
PÍSEMNÉ 
SČÍTÁNÍ 
 
123 + 531 = ? 

 1    2    3 

  5    3   1 

6    5   4 



Co se stane, když přehodíme sčítance?  

 2   4  3 
 1   1  1 

2  4  3 
1  1  1 



PÍSEMNÉ 
ODČÍTÁNÍ 
 
435 – 23 = ? 

4    3   5 

-       2    3 



Co se stane,  
když přehodíme 
menšence  
a menšitele? 
 
Ani to nezkoušejte! 
 
 

2   3 

- 4   3   5 



PÍSEMNÉ 
NÁSOBENÍ 
JEDNOCIFERNÝM 
ČÍSLEM 
 
52 . 4 = ? 

          5   2    

.             4  



PÍSEMNÉ 
NÁSOBENÍ 
DVOUCIFERNÝM 
ČÍSLEM 
23 . 41 
54 . 24 = ? 

5   4 
.        2   4  



Co se stane, když přehodíme činitele? 

2   3 
2  3 4   1 
4  1 

. . 


